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No BT £E A HElniEa 3 1-134 try L-137 5EE
Bg. kg Bg. kg Ba kg
1 A= R6.10.7 [RARLL =T (SR BmRHEE9(<3.1) 5.78 5.8
2 RKEH R6.10.7 [RARLUL=1T (5EE%) BRHEHET(<L3.1) BRHE9(<3.3) By
3 EBLLTH R6.10.2 BEERLLV=1F (78E%) BRHE9(<3.9) BRHET(<4.4) ; Janhcac
4 =iEIRTHT R6.10.3 BRLUL=1T (FEER BRHE9(<3.4) BRHE9(<3.2) BRHEEY
5 E%AH R6.10.7 [RARAHZ (FEh) BmRHEE9(<3.1) BRHEE9(<3.5) BmEeEd
6 T $ERET R6.10.7 HERGOHI (EHh) BmHEE9(<3.4) BRHEE9(<2.7) BmEEd
7 IS mT R6.10.7 BREOHZ (FEER) BRHE9(<6.1) BRHET(<3.4) BHEd
8 1S mT R6.10.7 BRSO (HEER) BRHE9(<5.4) BRHE9(<3.6) ; Janhcac
9 IEHT R6.10.7 BRLEH (HEER) BmRHEE9(<4.1) BRHEE9(<3.9) BmEeEd
10 IS HT R6.10.7 HRKREOHZ (FEER) BmREE9(<1.7) BRHEE9(<5.7) BmEEd
11 T SERET R6.10.7 FEARZEW =T (FEh) BRHE9(<3.9) BRHE9(<3.6) BHEd
12 T $ERET R6.10.7 BEARZEUL=F(FEh) BRHE9(<4.0) BRHET(<4.4) ;- Jarkcac
13 T4ERET R6.10.7 [RARZFEL =T (FEi#h) R (<4.4) BRHEE9(<4.7) BmEEd
14 P EET R6.10.7 [RARZFEL =T (FEi#h) BmHEHE9(<5.0) BRHEtE9(<6.4) BmEEd
15 R340 R6.10.7 FEARZEW =T (FEih) BRHE9(<3.6) BRHE9(<3.9) ; Janhcac
16 A+ R6.10.7 BEARZEUL=F (FEh) BRHEET(<2.7) BRHET(<L3.1) ; Janhcac




BREHR

No 15 A =] AHniEsE ) L-134 3 Ls-137 5RE
Bg/ ke Ba/kg Ba ke

17 NIRAF R6.10.7 FRARFEL =1 (Fih) BRHEET(<3.2) 7.70 7.7
18 T SERET R6.10.7 BRARUVST-1T (i) BRHEET(<33) BRHEET(<29) BRHEET
19 LB R R6.10.7 RARUVST-1T (FEi#h) BHEE9(<34) BRHEY(<3.0) ‘e
20 T ERET R6.10.6 BRUbT-T (i) BRHET(<26) BRHEET(<32) BRHEET
21 T SERET R6.10.7 BRUbT-IT (FBih) BRHEET(<4.9) BRHEET(<35) ‘e
22 o) R6.10.7 BROST=1T (HRE%) R E9(<25) BRHE9(<3.2) BRHEET
23 F=EHT R6.10.7 HIRZTA YA (EARE) BRHET(<3.9) BRHEEY(<3.2) BREEd
24 IEHT R6.10.7 a5 (BRE) B E9(<4.0) 4.55 4.6

25 =i R6.10.6 YOSV AT (HIRA) BRHET(<36) 64.5 65

26 =i R6.10.5 YOSV AT (HIRE) BRHEET(<41) 48.3 48

27 F=EHT R6.10.6 YOSV AT (HIRA) BRHEE9(<3.2) 24.9 25

28 RS IRHET R6.10.7 YOSV AT (HIRA) BRHET(<29) 235 24

29 R EHT R6.10.4 NFATF (ERE) BRHEET(<41) 15.8 16
30 RS EHE R6.10.7 RABT (BEH) R £9(<6.6) B E9(<45) BRHEET
31 i HT R6.10.5 A3 (BEH) BHEET(<3) BEE9(<25) ‘Y
32 HNiEHET R6.10.5 AR (BER) B HE9(<3.0) BHEE9(<2.9) ‘e
33 HEHT R6.10.7 XA (BEE) BRHEET(<46) 4.49 45

34 RS EHE R6.10.6 VAT (BRE) BRHEET(<38) BRHEEI(<35) BRHEET
35 F=EHT R6.10.5 FHI/Zx24 (HRE) BREET(<4) 5.51 55
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